3.5 Triangle Midsegment Theorem Notes Name: |6u3

) s LR o Triangle Midsegment Theorem)

~
A midsegment of a triangle is parallel to a side of 8
the triangle, and its length is half the length of D
that side. 4 £
DE || AC, DE = Yac
2 C
\_ J

Because there are parallel lines look
for either:
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Using the example above, find the following:
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To determine the side lengths
you either:
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(it just depends which side you
have information for (the
midsegment or side of the

triangle))
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9. Find the value of n. @ A
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10. AXYZ is the midsegment triangle of AWUV. What is the perimeter of AXYZ?2
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